
Algebraické rovnice 
 
1. Řešte v R algebraické rovnice pomocí vytýkání: 
 a) 0123 =+−− xxx  

 b) 012510 23 =−+− xxx  

 c) 0552 23 =++ xxx  

 

2. Řešte v R algebraické rovnice: 
 a) 023 23 =−++ xxx  

 b) 0276 23 =+−− xxx  

c) 09686 234 =−++− xxxx  

d) 027342 234 =−+−− xxxx  

e) 072552512 234 =−+−− xxxx  

 
3. Řešte v C algebraické rovnice: 
 a) 0423 2 =++ xx  

 b) 047 =+ xx  

c) 0145 =−−+ xxx  

d) 0164 =−x  

e) 0842 246 =+−+ xxx  

f) 010323 =−+− xxx  

g) 01219412194 2345 =+++++ xxxxx  

h) 0310396 2345 =−−−++ xxxxx  

 
Výsledky 
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